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INSTRUCTIONS
1. There are 35 Multiple Choice Questions in this paper.
2. Each question has Four Options out of which ONLY ONE is correct.
3. All questions are compulsory.

4. There is no negative marking.

5. No electric device capable of storing and displaying visual information such as
calculator and mobile is allowed during the course of the exam.
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1.

. ‘Makki ki roti and sarson ka saag’ is mostly eaten by people of .................. .

(a) Kerala (b) West Bengal
(c) Punjab (d) Madhya Pradesh

Raman works in an observatory. He studies space and the objects like planets, stars and
galaxies found in it. What is his profession?

(a) Astronomer (b) Florist
(c) Astronaut (d) Pilot

Which invention changed the way of human living during early times?

(a) Wheel (b) Cart
(c) Clothes (d) None of these
. Radio, television and newspapers are the modes of .................. communication.
(@) personal (b) electric
(c) mass (d) None of these

Rath Yatra of Lord Jagannath is a famous festival of which state?
(a) Uttar Pradesh (b) Tamil Nadu
(c) Odisha (d) Andhra Pradesh

Which among the following divides the Earth into two hemispheres?
(a) Equator (b) Tropic of Cancer
(c) Tropic of Capricorn (d) Longitude

Identify the correct sequence of planets in our Solar System.
(a) Mars, Earth, Mercury, Venus (b) Mercury, Venus, Earth, Mars
(c) Mercury, Mars ,Venus, Earth (d) Earth, Mars, Mercury, Venus

Complete the given analogy.

Nearest planet : Mercury :: Farthest planet:?

(a) Saturn (b) Venus
(c) Uranus (d) Neptune

.................. is a harmful gas which causes air pollution.
(a) Carbon dioxide (b) Oxygen
(c) Nitrogen (d) None of these

The National Anthem was composed by .................. .
(a) Bankim Chandra Chattopadhyay (b) Mahatma Gandhi
(c) Rabindranath Tagore (d) Subhash Chandra Bose

Identify the incorrectly matched pair with reference to state and their main festivals.
(a) Rajasthan-Gangaur (b) Maharashtra-Ganesh Chaturthi
(c) Telangana-Durga Puja (d) Uttarakhand-Kerala
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Choose the correct sequence of seasons in India.
(@) Spring, Summer, Autumn, Winter
(b) Spring, Autumn, Winter ,Summer
(c) Autumn, Winter, Spring, Summer
(d) Winter, Spring, Summer, Autumn

Identify the given picture of the Indian dance form as shown in the given picture.

(a) Sattriya (b) Kathakali
(c) Bharatnatyam (d) Kathak

Which planet is also called the ‘morning or evening star’?
(a) Earth (b) Venus
(c) Mercury (d) Jupiter

Complete the given analogy.

Ganesh Utsav : Maharashtra : : ? : Nagaland
(a) Ram Navmi (b) Baisakhi
(c) Hornbill Festival (d) Pongal

What is the gap between the orbit of Mars and Jupiter called?
(a) Asteroids (b) Comets
(c) Meteor (d) Meteorite

Which of the following places is famous for Chikankari work, which is a traditional art of
embroidery?

(a) Lucknow (b) Hyderabad

(c) Jaipur (d) Mysore

Complete the given analogy.

Arunachal Pradesh : Itanagar : : Mizoram : ?
(@) Imphal (b) Shillong
(c) Kohima (d) Aizawl
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Yamini Krishnamurthy is associated with which among the following classical dance

forms of India?
(a) Bharatnatyam

(b) Kathakali

(c) Bihu (d) Kathak
In the early stages, humans were. ............... and nomads.
(@) hunter-gatherers (b) advanced

(c) singers

(d) musicians

Choose the odd one out from the given options.

(a) Bihu -
(b) Garba -
(c) Bhangra
(d) Lavani -

Assam

Tamil Nadu
Haryana

Andhra Pradesh

Identify the correctly matched pair.

State
(a) Chhattisgarh
(b) Telangana
(c) Assam
(d) Mizoram

Capital
Dispur

- Hyderabad
- Kohima

- Indore

Which among the following cities is often referred as ‘Manchester of India’?

(@) Chennai

(b) Ahmedabad
(c) Delhi

(d) Kolkata

Identify the historical monument situated in Delhi as shown in the picture given below.

(a) Lodi Garden

(b) Humayun’'s Tomb

(c) Red Fort
(d) Hawa Mahal



25. Ildentify the picture given below is related to which of the following occupations.

—

(a) Pottery making (b) Toy making (c) Weaving (d) Mining

26. Which amongst the following is not a Union Territory?
(a) Jammu and Kashmir (b) Puducherry
(c) Goa (d) Daman and Diu

27. Which dance form has its origin in Northern India?
(@) Manipuri
(b) Odissi
(c) Kathak
(d) Bihu

28. Complete the given analogy.

Ellora Caves : Maharashtra : : ? : Madhya Pradesh
(@) Sun Temple, Konark (b) Humayun's Tomb
(c) Fatehpur Sikri Fort (d) Bhimbetka

29. Which of the following statements is/are not correct?
I. India is the largest country in the world.
[l. India is the second most populated country in the world after China.

Codes
(@) Only | (b) Only Il (c) Both land Il (d) None of these

30. Read the given statements and select the option that correctly identifies which ones are
true (T) and which ones are false (F).

I. Early humans wear animal skin and tree leaves to protect their body from cold.
[l. Early humans kept a record of their daily activities in written form.
Codes
| Il | Il
(@) F T (b) F F
() T T d) T F
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Which of the following statements is/are correct?
I. Early humans used wood for making wheels.

Il. Animal bones and horns were also used to make tools.

Codes
(@) Only | (b) Only Il
(c) Both land lI (d) Neither I nor lI

Consider the following pairs.
I. Sattriya : Uttar Pradesh
[l. Odia: Odisha

I1l. Bharatnatyam : Karnataka

Which of the following pairs given above is/are correctly matched?
(@) Only | (b) Only Il (c) Only 1l (d) All of these

Match the following.

List I (States) List I (Major Festival)

A.  West Bengal 1. Ganga Mahotsav

B. Maharashtra 2. Durga Puja

C. Uttar Pradesh 3. Gudi Padva

D. Odisha 4. Rath Yatra
Codes

A B C D A B C D

(@ 1 3 4 2 (b) 4 3 1 2
(c) 2 3 1 4 (d) 3 4 1 2

Read the given statements and select the option that correctly identifies which ones are

true (T) and which ones are false (F).

I. Burning fossil fuels such as petrol or diesel pollutes the environment.

Il. Deforestation is one of the reasons responsible for polluting the environment.

Codes

| I | I
(@) F T (b) F F
() T T d) T F

Which of the following statements is/ are correct?
I. Himalaya is the highest mountain range of India.
Il. India is surrounded by Arabian Sea in the South-West.

Codes
(@) Only | (b) Only Il
(c) Both land Il (d) Neither I nor lI
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Answers
(c) Punjab
(a) Astronomer
(a) Wheel
(c) mass
(c) Odisha
(a) Equator
(b) Mercury, Venus, Earth, Mars
(d) Neptune
(a) Carbon dioxide

(c) Rabindranath Tagore

. (c) Telangana-Durga Puja

. (a) Spring, Summer, Autumn, Winter
. (c) Bharatnatyam

. (b) Venus

. (c) Hornbill Festival

. (a) Asteroids

(a) Lucknow

. (d) Aizawl

. (@) Bharatnatyam

. (@) hunter-gatherers

. (b) Garba- Tamil Nadu

. (b) Telangana - Hyderabad
. (b) Ahmedabad
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(b) Humayun's Tomb
(a) Pottery making
(c) Goa

(c) Kathak

(d) Bhimbetka

(b) Only 1l

dT F

(c) Both land Il

(b) Only Il

()2 3 1 4

)T T

(c) Both land I



